Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V-EXAMINATION - WINTER 2015

Subject Code: 3350604 Date: 10/12/2015
Subject Name: Estimating, Costing & Valuation
Time: 10:30 AM TO 1:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten.
L Explain in brief - Data required for preparing an estimate.
2. Define Lead and Lift.
3. Give the Multiplying factor for painting work.
(i) Flush door (ii) Fully glazed door
(iii) Collapsible gate  (iv) Steel rolling shutter
4.  Give the unit of measurement
(1) Surface dressing  (ii) Brick work for partition wall.
(iii) Skirting (iv) Man hole cover.
5. Define specifications and state types of specifications.
6. Calculate quantity of material for 1 m® concrete work of proportion 1:2:4
7.  State the extra length of bar for Hook and 45° Bent-up.
8.  Define Price and Cost.
9. Define Annuity and State types of Annuity.
10. Define Prime cost and Spot item.
Q.2 Calculate quantities of (a), (b) and (c) by referring Figure No.1of Residential
Building
(@) Excavation for foundation.
OR
(@ Foundation Concrete (1:4:8)
(b) Earth filling in Plinth.
OR

(b) Nos. of Tiles for flooring in Drawing room and Bed room.
(Tiles size 25 cm x 25 cm)
() Weight of steel in Kg. for R.C.C. slab considering 1.5% Steel.
OR
(c) Brick masonry work for foundation up to plinth.
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Write specifications for 1 class brick work in C.M. (1:6)
OR
Give the principles of writing specifications.

Explain Contigencies and Work charged establishment charges.
OR
Explain rules for deduction of plastering.

Calculate quantities of (b) and (c) by referring Figure No.2 of R.C.C. beam.
R.C.C. work

OR

Form work

Weight of steel in Kg. for 16 mm @ and 12 mm @ bar.
OR

Weight of steel in Kg. for 8 mm @ bar.
State factor affecting rate analysis and explain any one.
OR
Derive rate analysis for 12 mm thick plastering in C.M. (1:4)

Calculate quantity of (a) and (b) by referring Figure No. 3 of Slab Culvert
Excavation for foundation.
OR
Foundation concrete (1:3:6)
1% Class Brick masonry work in C.M. (1:6) including parapet wall.
OR
R.C.C. work for Slab and Coping.
The detail of road as given under

CH. 0 50 100 | 150 | 200 | 250 | 300 | 350 | 400

G.L.| 905 | 90.7 | 90.3 | 90.8 | 100. | 100. | 90.1 | 90.0 | 92.0

(m) 0 5
Formation width = 10m
Side slope = 2:1

Formation gradient 1:500 falling

Formation level at O m CH. is90 m
(1) Calculate earthwork by Prismoidal formula
(i) Draw longitudinal section
(iii) Draw C/S at 150 m CH.

The present value of a machine is Rs. 3,25,000/- and scrap value after 5 years
is Rs. 25,000/- . Calculate depreciated cost by Constant percentage method and
Straight line method if life of machine is 15 years.
(i) Find out the yearly installment of loan Rs.80,000/- at rate of interest 10% is
to be repaid in 15 years.
(11) If the amount invested in ‘National Saving Scheme’ is double in 7 years,
calculate the rate of interest.
Enlist types of value and explain any one.
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Enlist qualities of good estimator. 03
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